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Physical quantities &b jall <l

Basic guantities: Al ciloas

Quantity S.I (K.M.S) France (c.g.s) English System (f.p.s)
Mass 4l Kilogram (KG) | Gram (9) Pound (IP)
Length Jskll | Meter (m) | Centimeter (cm) | Foot (ft)
Time o)l Second (s) Second (s) Second  (9)
Derived quantities: 4&ida ciluas
Quantity symbol S.1 Unit
Velocity ic yu v m/s - (ms?)
Acceleration & s a m/s® - (ms?)
Force 358 F Kg.m/s* =N
Work, Energy 48/ Jai W |, E N.m - (kg. m?/s9)- (J)
Power 34 P JS. - (kg.m’/s’). w
Area dalie A m°
Volume ana Vv m®
Density TR d Kg/m®

(Ex-1)- The unit of mass in the SI system is:

a) kg

b) m C)

m/s d)s

e) m/s?

(Ex-2)- The unit of Length in the SI system is:

a) kg

b) m C)

m/s d)s

e) m/s*
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(Ex-3)- The unit of Time in the Sl system is:
a) kg b) m om/s  d)s e) m/s*
(Ex-4)- The basic Sl unit of force is: (where F = ma)

a) Lb b) joule c) kg m/s d) kg m/s*
(Ex-5)- The unit of acceleration in Sl unit is:

a) km/s b) m/s c) ft/s? d) m/s”
(Ex-6)- The prefix of the kilowatt value is:

a) mw b) w C) nw d) kw




00966502047005 (il gl o Jladial oY 3 jpally Cipualls Jal gla aod | 3

dalgl) D gl ulx

I- Length (n=1)

(IOQ)n (nm)” P (um)”
(1012 )nx (]O-Q)n‘x (106 )nx
(ft)n T~ l (103 )nx - (mm)n
(3.28)
\ /
(inCh)n— (39.4)=+ N (m)n — (102 )nx . (Cm)n
/ \
(1610 (S1U) (108 )nx
~—
(mille)' —" (km)’

(LsSall 5 dand I o puallyilenll (uSay (ageall olail (Se) Jysaill e (Sar - 1= Ol oY

m= milli = 10” 4 =micro=10" -2

n = nano = 10~ p=Pico =107
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(Ex-7)- The value 5, m is equal to s sbusi:

a) 5x10°m  b)5x10°m  ¢)1x10°m d) 5x10°m e) 10°m

X G pad ia I jia 5 S (e asaill]0°

5, m=5x10"°m

(Ex-8)- A man has a height of 120cm. His height in meters is

a)1.2cm  b)1.2x10°m  c¢) 1.2x10°m d) 1.2m e)
120m LD

e

100 Gle adi m ) om o Josail

120cm =120 +100=1.2 m

conversion factor J2 sxill Jalea

Lo LAY Call 5 5l saa gl e 4k aal (5 sing s Al (g s ddavss € 58 i padll Jalaa
Ll Jgmall 5an gl e Javal 5 gia Jgaall 3aa gl e aliall (g ing Caums 5 puiall s gl (e L sl

** convert 120cm to meters G IS Lgal) Jgaal) Bas gl

tm e

120 =120 X = 1.2
cm CT{ 100cm\ m

\ MGA@JMMJMSM\J&M‘(}AM
Al IS Lgda J gaall Baa gl ]éjuwj
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(Ex-9)- The conversion factor to convert 6 m to mm is:

(a) 10° mm (b) 10° mm (0) [m (d) 6m

6m 107 mm 107 mm

[1-Area (n=2)

(N=2) b oY & 8y SN S5 Salual) Jalasall i 202050 Lld dalisall Cilas g (g5 2ie

Cm2 49" ym? | daludl <

(Ex-10)- A square with an edge of 1cm has an area of (area = edge?)

(a) 10° m* (b) 10% m* (c) 10° m® (d) 10* m*

€5

e 138 5 daliaall Canias o3 m ) oM e Jslll ¥ o) Jpas

A = (1cm)® = (0.01m)*> = 10" m?
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(Ex-11)- The area of a circle of radius R=30cm in Sl units (if the area of the circle

is given by A=nr) is

(a) 20cm®*  (b) 10m? (c) 40m? (d) 0.64m? (e) 5m

R=30cm=0.3m

A = R? = 3.14x(0.3m)*= 0.28 m’

I[1I-VVolume (n=3)

(N= 3)sbun Y & 58 e S 815 Gl (Jshall) Jadadie (pudd padios Wil aaal) Cilas g J g i

. 3
mm? —49" s (Jshll Sy e 4 anall Caa )

(Ex-12)- A cubic box with an edge of exactly 1cm has a volume of (volume =

edge’)
(a) 10°m® (b) 8x10° m® (€)2.7x10° m°® (d) 6.4 x 10° m®

€5

aaall a2 3as 6l Y gl J gad (o WS

V= L°= (1cm)® = (0.01m)’> = 10° m®
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(Ex-13)- Volume of cube V= 1.84 inch® if 1 inch = 2.54cm. Find its volume in Sl-

units.

(a) 30.2 x 10°m® (b) 30x10°m° (c) 3x10

€

) 25 (Y1 cind Jyaill Alee 255y i ) Y1 a L

V = 1.84 (inch)®= 1.84(0.0254 m)* = 3.0 x107

(Ex-14)- A cube of edge 95mm, its volume in Sl units is:

(a) 95m’ (b) 0.95m° (c) 8.6 x 10”"m’ (d) 7m®

V= L° = (95mm)® = (0.095m)* = 8.6x10*m®
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1V-Mass
Pg ng Hg
o x | -
1012 x 107
106 x
/
Kg [T 100 x __¢g
\
(SIU) 105 x
™y
A Glas g B gail Jalada
(Ex-15)- A gram is equal to:
(a) 10°°kg (b) 10°kg (c) 10kg (d) 1kg (e)

10™'kg

€I

1g = (1+1000)Kg =1x10°Kg =10°Kg
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(Ex-16)- 10mg=.....ng

10mg = 10x10°%g = 10 x 10™ x 10° ng = 10" ng

(Ex-17)- The one Kilogram is equal in term of gram:

a) 1000g b) 100g c)10'g d)1g e) Zero

€5

1Kg = 10°g = 1000g

(Ex-18)- A man has a mass of 150 kg. Convert this mass to grams.

(a) 1.5 x 10°g (b) 1.5x 10° g (c) 15x 10° g (d) 1509

€5
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V-Time
ps ns us
10712x 106 x
109 x

min ms

T~ l 103 x -

60 x
\ «—
S
hr x60x60 10 x —_ CS
\
7 (SIU) 105 x
7%24x60%60
/ ~—
week Ks
S Glaa g Jugadl Jalads

(Ex-19)- 10" milliseconds is equal to:

(a) 10°s (b) 10% s (c)10's d)1s (e) 10 s

10°ms = 10*x10° = 10s

(Ex-20)- 10min = ........ S

(a) 10 (b) 600 €01 (d)0.01  (e)0.001

€5

10 min =10 x 60 s = 600 s

10
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VI1-Velocity
Km/s x m/h
- ] _
1000x
~ « 3600
m/s
o o
1 1000
60
y 3600 ~_
m/min x x km/h

de pud) Jogat Jalads
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(Ex-21)- A car is traveling at 20m/s. The speed of this car is equal to

a) 12km/h b) 10km/h c) 72km/h d) 20km/h e)5km/h

€5

20m/s = 20x 229 km/h = 72Kkm/h
1000

(Ex-22)- A car moves along a straight horizontal way with a velocity 55mi/h. The

velocity in Sl is:

a) 2000 m/s b) 20m/s ¢) 3.3m/s d) 1.5m/s e) Zero

€I

55mi/h = 55x 2292 11 /s — 2000m/s
3600

(Ex-23)- A car is traveling at 25km/min®. The acceleration of this car in Sl unit is:

a) 20 cm/s* b) 10m/s* c) 40m/s? d) 6.9m/s?
25Km/min? = 25 x 2000M _ g g /52
(60s)
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VII- Density

a3 Baa g dand 4TS Baa g (pa (oS ABUSY) Baa g

Q%M\M@UQMAQJMMSAAJJS&#*J

3

g/m kg/ml
T ¢ 7
~
kg/m®
A AN
10° 1000
kg/cm® g/mi

JALESY 9ol Jalada
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(Ex-24)- The density of water is 1g/cm°. The density in kg/m® is:

a) 1000kg/m”®  b) 10kg/m®  c) 100kg/m* d)10°kg/m®  e) 1kg/m’

10°kg

1g/cm? =1><W =1000kg/m?
m

(Ex-25)- The density of lead is 11.3g/cm®. This value in kilograms per cubic meter

IS:

a) 0.13 kg/m® b) 1.1x10kg/m’ c) 11.3kg/m® d) 11300kg/m*>  e)
1kg/m®

10 °kg

11.3g/cm? =11.3><1 e =11300kg/ m?®

(Ex-26)-  The conversion factor to convert hours to seconds is:

| s 3600 h 1 h 3600 s
a b C d
()36001'; () | s ()36005 () 1 h

(EX-27)- The conversion factor to convert 10 kg to g is:

103 10%g lkg 10kg
(a) —= (b) —* (©) (d) —
lkg 10kg 107 ¢ 10" ¢
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(Ex-27)- Given A=B*C? where A is in meter square and C is in seconds. The unit
of B is:

(a) m/s (b) ms (c) m/s* (d) m/s®

€5

&_\w\enow\Q\A;)SL\UAJM?B&JJLGSMJMJM\«_\SSA

> A m? m?
B :?:SZ B = 32 =m/s

(Ex-28)- The speed v in m/s of a car is given v =bt* where the time t is in seconds.
The unit of b is:

(a) m/s’ (b) ms (c) m/s (d) m/s’ (e)
m/s?
-1
v omsT e
A= Tz TS e b s
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